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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

(2r2t + 1) dt.
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

(2r2t + 1) dt. Potom plati

F(r)y =
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := / (2r2t + 1) dt. Potom plati

r—1

5 r4+1 r+1
F(r)y = 2r/ tdt—l—/ dt
r—1 r—1
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

r+1 r+1 27711 41
F(r) = 27~2/ ! dt+/ dt = 212 [—] T [t]r —
r—1 r—1
—1

(2r2t + 1) dt. Potom plati

2 r—1
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

r+1 r+1 +2 r+1 1
F(r) = 27~2/ ! dt+/ dt = 212 [5] T [t] =
r—1 r—1 r—
1

(2r2t + 1) dt. Potom plati

= 2+’ -D]+ e+ - (-1 =
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

r+1 r+1 27711 41
F(r) = 27~2/ ! dt+/ dt = 212 [—] T [t]r —
r—1 r—1
—1

(2r2t + 1) dt. Potom plati
2 r—1

= 2+’ -D]+ e+ - (-1 =

= r2<r2—|—2r—|—1—'r2—|—2r—1)+r—|—1—'r+1:
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

r+1 r+1 27711 41
F(r) = 27~2/ ! dt+/ dt = 212 [—] T [t]r —
r—1 r—1
—1

(2r2t + 1) dt. Potom plati
2 r—1

= 2+’ -D]+ e+ - (-1 =

= r2<'r'2—|—27“—|-1—'r'2—|—27“—1)+r+1—r—|—1:4r3+2.
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

r+1 r+1 +2 r+1 1
F(r) = 2r2/ ! dt+/ dt = 212 [5] T [t] =
r—1 r—1 r—
1

(2r2t + 1) dt. Potom plati

— g2 [(7“4—1)2—(7“—1)2} +(r+1)—(r—1)=

= 'r2<'r'2—|—27“—|-1—'r'2—|—27“—1)+r+1—'r'—|—1:4r3+2.

S pouzitim pfedchoziho vypoctu dostavame

I = /_11 (41"3 i 2) dr =
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

r+1 r+1 t2 r+1 1
F(r) = 2r2/ ' dt+/ dt = 2r* [5] + [t] =
r—1 r—1 rT—
1

(2r2t + 1) dt. Potom plati

= 1"2[(7“4—1)2—(7“—1)2} +(r+1)—(r—1)=

= r2<'r'2—|—27“—|-1—'r'2—|—2r—1)+r+1—'r'—|—1:4r3+2.

S pouzitim pfedchoziho vypoctu dostavame

I = /_11 (4r3 + 2) dr = [r4 + 27"} 1_1 =
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r+1

Reseni. Oznaéme vnitini integrdl F(r) := /

r—1

r+1 r+1 27711 41
F(r) = 2r2/ ! dt+/ dt = 212 [—] T [t]r —
r—1 r—1
—1

(2r2t + 1) dt. Potom plati

2 r—1
= 1"2[(7“4—1)2—(7“—1)2} +(r+1)—(r—1)=

= r2<'r'2—|—27“—|-1—'r'2—|—2r—1)+r+1—'r'—|—1:4r3+2.

S pouzitim pfedchoziho vypoctu dostavame

I=/_11(4r3—|—2) dr = [r4+2r]1_1:(1+2)—(1—2):é.
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